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1. 500,000 +50,000 =10
becduse 50+5=10 and

SORRYY ~ S%E

Solve the equations using
the same rule.

400,000 + 40,000 =
700,000 +70,000 =

Look closely:
400,000 +400,000=

Z. Use the line plot
below fo answer the
question.

Length of Ribbon in Inches

How many pieces of
ribbon were 3 inches or
longer?

T4
J \J
3

71868

4. Edwadrd hds 342
marbles in bags. If 4
marbles are in each bag,
how many bags does
Edward have? How
many bags will he have
if he gives 15 bags to
his brother?

5. Henry has d 6. 7. Compadre the two 8.
number of donuts in a decimals using <, =, > 23
box represented by
the letter d. He took Q
d and shared them in 3 4 _ L 0.57 0.75 X 10
different groups with O — 100 —_— =
4 in each group. 08 Q 0.80
Write an equation to ' '
solve for d.
0.32 0.30
: ) Z :
9. Add the fractions. 10. If the frac’nonf& 11. Shade in the 12.7,000 +700 =
L + 2 equals 0.34, then | fraction bellow to
72 equals show 2 X g .
(o] lo 2 eq T
*Bonus: Reduce
the fraction.
13. What is the value 14. Start at 10. 15. Draw the line of 16.
of angle x? Create a pattern that | symmetry on the
multiplies each watermelon. If 4 5 45
number by 3. Stop 107100 = 100°
when you have 5 =~
X numbers. AN
then Z+ 8 _—
A 23° 107100 < 100
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